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Questions

CAL stands for

Modern computer can perform calculation or process at

MICR stands for

Which of the following is relevant to office automation

Computer based weather forecasting depends on accurate collection of data from

CAT stands for

Typically an ATM can be used to

Stop bit are required in this type of transmission

Sound light and radio waves are examples of

Along signal is measured in

The internet transfer of data in computer uses

Internet surfing is example of

Unicode is a

Which of the following coding scheme uses 4-bit code

Which of the following coding scheme uses 4-bit code
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. Computer Aided Learning
. Computer Assist Learning
. Computer Added Learning
. None of the above

. Per second

. Per minute

. Nano second
. None

. Magic in character redo

. Magic in ink character recorder
. Magnetic ink character reader
. None of the above

. Document management system
. Message - handling system

. Office supports system

LAl

. Television

. Weather station
. Radar

. Antenna

. Computerize Axial Topography
. Computer Axial topography

. Computer Aided Topography

. None of the above

. Keep records

. Make budgets

. Watch movies

. None of the above

. Asynchronous
Internittent

. Synchronous
. None

. Digital signal

. Analog signal
. Simple signals
. None

. Volt

. Hertz

. Digits
. Watts

. Parallel mode
. Serial mode
.Bothaand B
. None

. Simplex

. Half duplex
. Full duplex
. None

. 16- bit code

. 32 - bit code

. 64 - bit code

. 132 - bit code

. ASCII

. EBCDIC
.BCD
. Unicode

. ASCII

. EBCDIC
.BCD

. Unicode






